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9 Prove that the following identity holds by expressing the left—-hand
side as the sum of 8 determinants:
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4. Evaluate the followine determinants:
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H. Compute the mverse of the matrix
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by first computing the adjomnt matrix.
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8. Let
1 1 -1
A=1 2 k
1k 3
Find the values of & for which det 4 = 0 and hence. or otherwise,
determine the value of & for which the following system has more than

o11e solutlon:
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Solve the system for this value of A and determine the solution for
which 2 + % 4+ 22 has least value.
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